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Rubric

1 point for Holden's positior
1 point for Marishka's position;
2 points for correct number line and
labels.
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6.NS.6¢

SELECTED RESPONSE
Select the correct answer.

1. Where is % on a number line?

@ Between -3 and -2
@® Between 1 and 0
(© Between 0 and 1
(@ Between 2 and 3

2. Identify the point on the numberine.

A
54 12345

® -4
® -35
®©35
@4

4. Describe the process of graphing (g %)
on a coordinate plane.

@ Starting at the origin, move & unitin

the positive x-direction. Then, move

% unit in the positive y-direction

(® Starting at the origin, move & unitin
the negative x-direction. Then, move
% unit in the negative y-direction

(© Starting at the origin, move & unitin
the positive x-direction. Then, move

% unit in the negative y-direction
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3. Identify the coordinates of the point.

® (2.-4)
® (4,-2)
© (4,2)
@ @24

=
5
the negative x-direction. Then, move

(® Starting at the origin, move = unitin

% unit in the positive y-direction

Select all correct answers.

5. What numbers are graphed on the
vertical number line?

25
2
15

1
05
o
05
ot
18
-2
28

® -25 ®1
® -225 ® 125
®©-175 @2
® 075 ® 25
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CONSTRUCTED RESPONSE

6. Graph and label (0.75, -1.25), (1.5, 2),
(-0.25, -1.75), and (-1, 0.75).

7. Agroup of students is participating in a
tug-of-war contest. The rope s laid out in
astraight line with a knot in the middle.
The students are positioned according to
the following diagram. The object of the
game for both teams is to pull the knot
2 units in their direction. The first team to
do so wins the contest. Assume that each
team puls in a straight line. If Holden's
side wins. find the final positions of

8. Below is amap showing various places in
relation to Carlos's house at the origin
Find the coordinates of the library,
the school, the bike shop, and the

baseball field.
¥
i SO School
‘Baseball Flold 4 4
=

9. a Graph and label the point (-2, 8).
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b. Find the point that represents a
reflection of (-2, 8) across the x-axis.
Graph and label the result

©. Find the point that represents a

Holden and Marishka. Explain your
answers using a number line.

P L] reflection of the result from part b
3z 2 across the y-axis. Graph and label
the result
54 5
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6.NS.6c Answers

1.C
2.8
3.0
4.A
5.8,D,F, G

Rubric

1 point for each graphed and labeled
point

7. Holden will be at -5 and Marishka wil be
at 1. Holden's side pulls the knot 2 units
in the negative direction, so all the
students move 2 units in the negative
direction, as shown on the number line.

8. The coordinates of the library are
(=4, ~1). The coordinates of the school
are (3, 4). The coordinates of the bike
shop are (4, ~3). The coordinates of the
baseball field are (-3, 3).

Rubric
1 point for each ordered pair

9. The points are graphed and labeled
below.

Rubric
a. 1 point for graphed and labeled point
b. 1 point for coordinates of point;

1 point for graphed and labeled point
c. 1 point for coordinates of point;

1 point for graphed and labeled point




